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Worksheet : (Unit 4)
|

Write each word under the suitable picture:

chicken - potatoes - salt - shrimp - yogurt - tea - mango - bread

g e -_—

Choose the correct answer:

- How ( much - many ) bananas do you have ?
- Thave( a few - alittle ).

- How( much - many ) water do we have ?

- Wehave( a few - a little )

Write the suitable reflexive pronouns :

: he :
We : they :

Comprehension :

Tomatoes are native to Mexico and Central America . The Aztecs grew them
back in the 8™ century . In the 16™ century , Spanish explorers introduced
tomatoes to Spain . In the 19™ century , the British introduced tomatoes to
the Middle East , and now Egypt and Turkey are among the world top tomato
producers .

Answer ( true ) or ( false ) :
- The Spanish introduced tomatoes to Europe
- Tomatoes are not grown in the Middle East
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